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HqHIad

ogdH
Concept Lecture - 1




The IeMmber which when divided by

56;(5-9 (RO 6,9,12,15,18 leaves the same remainder
+ 3 2 in each case is:
192 9 gAaH dEer F ¢ Swe

6,9,12,15 dUT 18 & HIT & W IAF
ufa & 2 A9 T9dr g?
a) 180 b) 176 \.eﬂsz d) 178




The least number, which when divided by

60x9g=540 /12 15,20 or?jeaves a remainder of 4 in
“each case is: £7X2

544 9 FaA wEI F o§ fomer

12,15,20 4T 54 & HET ¢ W TS
Rufy & 4 AY T9ar &2
a) 456 b) 454 c) 540 d) 544




L
6% Ugx5* 3= 790

oM

70 n+ 19

A260+10

-€39

730)

T

2799
Q3D
6399
§7690
639

The largest number of five digits which, when
divided by@6,24,30 or 36 )leaves the same
remainder 10 in each case, is:

U 3 Y AFaH FE&dT F1 g, e
16,24,30 T 36 ¥ AT & W Y& Fyufa
H 10 A9 g?

a) 99279 99370 ¢) 99269 d)99350




Let the least number of six digits which
when divided byE4, 6,10, 15ieaves in each

60 N+ A
/:\'_‘Q’ e case same remaindervzhbe N. The sum of
: 4’? digits in N is:
€0 60 AT fom ST F 6 3R dr g7 gATH
‘ . TEAT N &, W 4,6,10 F°T 15 F 19T
60 :oodzﬂ< I W T Uy # 2 oY quar §, @
6000*—20 N & 37 jrb/u’m e
“ a) 3 )5 c) 4 d)6
:5%;0\) \0 000 K X X
3o — X2
Yoo l000R3— 5
362
0




Box DX D = TR0

A number between 1000 and 2000 which
when divided by‘ 302365and 80 ’gives a
remainder 11 in eaZI‘Tcase is

1000 31X 2000 & i Fiat W FE=T
¢ o 3} 30,36 3iv 80 & smwr RFamw
ST d g3s ufa & 11 Qv F29m?

a) 1523 b) 1451 ) 1641 d) 1712




How many four-digit numbers when divided
b gives 2 remainder?

IR FAH Hr fFa«dr d&ar § S 4,5,8,9
dUT 12 § HI FA W 2 VG GIN?
a) 24 ,\/HﬁS c)27 d) 30




120143 43 )3

= 1R0x23¢+39

—
—

1380 433

32

What is the sum_of all the three digit

numbers which_gives 4 remainder when
divided by(5,6, 82 o
e 3 ATV Tt eIy @1 Sls

gar & &g 5,6 3R 8 & fasnioa
W W dR 4 & A¥ TIaT §?
4352 b) 4472 c¢) 5432
d) 9962 e) None of these

n=2 n=g

]
|




)

25 52

Q70
Q63
\RD

What least number must be subtracted
from 2963 so that the resulting number

when divided by (9, 10 and 15) the
remainder in each case is 5?

2963 # ¥ &9 H o ¥ S TEAT
F ST ST Oifge  arfes aRomsr
HE&AT #1 9,10 3R 15 ¥ Rafod &=
T I dh H AYH 5 B1?

a) 41 78 c) 82 d) 39
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The least number which when divided by
@, 20 and Zaleaves 4 as remainder in
each case but when divided by 7 leaves no
remainder is

98 aA  gEdr ¥ g, forwet
16,18,20 dUT 25 & AT S W TAF
ufa & 4 Ay s9ar §, aAfFa 7 & swor

¢ W FE AY A4 TId1?
a) 17004 b) 18000
c) 18002 18004




AT AR = H YD

x4 +10 >0

G0N + Jo

3]

2160 +19= Q170

5
/QL Q" 2)9\?-@'0 Q5
@5)= seq546= —

U

L

Let }_be the least number which when
divided bytﬁ, 18, 20 and Zﬂ the remainder
in each case is 10 and x is a multiple of 31.
What least number should be added to x to
make it a perfect square?

I x F I S TEAT AT AT #
A 57 =@ 15 18, 20 3R 27 @
fasnfora frar Sirar § @ &X aR AW 10
g grr & AR 7§ x, 31 & AU P
3H x & TH QUF aof aa1ar & fao gad
sl @ FEd S FEwr JE FE

V= 2
) 39 b) 37 c) 43 d) 36
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Let x be the least number between 56,000

55X 5 X8 xT and 60,000 which when divided by 40, 45,
L 0\0 3 50 and 55/leaves a remainder of 23 in each
920 0 case. What is the sum of the digits of x?

1980 D‘n-ff(smm x, 56,000 3T 60,000 ¥ T TqE
w N m#mm%mm4o4sso
= 5940033 R 55 @ faenfaa fear smar B, @
T+ Tufd & dwwer 23 yrod gar

x & 3Pl HT IRTHA AT I

=574 5 23 b) 21 c) 26 d) 19

—> N
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There is a two digit number. If its digits are
a for ab, the result is

@ interchanged, say b
22 exactly divisible by 2,4-&.) What is the

smallest such number? [22], 56 34
65 2 3@ f UH HEAT §| IR FWE I

H 3eeT HT AT ST S/ & ab FT ba
forg fear se &t aRomeA 2,43k 7 @

qoiern fsnfSer &1 o 8§60 @ H

gTdH &I Tl |

a) 28 ) 48 c) 65

d) 82 e) None of these




What is the smallest humber which ends

7;? '0')-]-& with 2 and/gives 2 remainderwhen divided
3F 2 ¥ 3 B g9 3k 12 @
360 +Q=3¢ 2 fasnfare #3 9 2 AV T 72

a) 72 b) 142 c) 152
Vdr)/362 e) None of these




N= 3L+5 = 407
€&
Bk =‘4°$—~3
3

What is the smallest integer such that if 5 is
added to thrice of it, the result must be
divisible by X 5 & 8?

q8 goad quie 41 ¢ foas foea &
IR 5 ST Sw A ar@' 4538 ¥

quterar Rsnfara @
a) 35 b) 40 25
d) 30 d) None




What is the smallest number such that if 4
is subtracted from thrice of it, the result

should leave 3 remainder when divided by
A 5,and 8?

qE gaaA a&dr Hladt § oas faae
F ¥ 30T 4 TAT AT @ A GROTA
F IR 4,5 3R 8 A RFanfog F:F W
3 AV FUdT 87

a) 27 b) 40 c)43

d) 47 29




The least perfect square, which is divisible
/ by each o{ 21,36 and 66is:
2?67)( I X _7J>(ll>(7 ag #gAqH T FAT § ST 21,36 AT 66
Y% ¥ qoiaar fsnfara § 2

M= A{@ a) 214344 b) 214434

a5 5 (5213444 __ d)231444
25 A 137925
1 9Y0Y @ - x\:]{
-—\




@n 3

—_—

15

ag¥

The least number which when divided by

X,ﬁ,B and 9 leave zero remainder in each

case and when divided by 13 leaves a
remainder of 2 is:
4,6,8TYUT 9 A A & W YA+ fFufa
#H e AY Fuar g AR 13 & ar &R
9T 2 AY F94T 87
a) 144 b) 72 c)216 \J/)ZSB
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